2a Knacc

MNoHeaenbHUK BTOpHUK Cpega YeTBepr MNatHuya
1 ypok 830 = 915 Pasrosopbl 0 Ba}KHOM OKpyKatowWwmn mmp JlutepaTtypa Jlutepatypa JlutepaTtypa
2 YpOK 925 = 1010 Pycckui a3bIK Pycckuii a3bIK Pycckuii a3bIk Pycckuii a3bIK Pycckuii s3bIK
3 ypoK 1030 = 1115 dus-pa MaTtemaTuKa dus-pa MaTtemaTuKa n30
4 ypok 1125 = 1210 MaTtemaTturka AHINIACKUIA A3bIK MaTtemaTuKa LLaxmaTbl OKpyKatowWwmin mmp
5 ypokK 1230 = 1315 NutepaTtypa ®us-pa AHIINACKUIA A3bIK yMHMEm}K;;HMH TexHonorua
6 VPOK 1325 ) 1410 UcTokn KpysoK 320p0BbA AHTNNIACKNIA A3bIK
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